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Class

STEAM Reading

High Elementary 3 Final (Units 9-16)

1. What is the correct word for the blank?

In the afternoon, there was a sudden

5. Which word has the closest meaning to the
underlined word?

Some bacteria can produce their own nutrients.

of rain.
a. rainbow b. drop
c. shower d. piece

2. What is the correct word for the blank?

After they had got their bags, they

a. understand b. create

c. find d. expect

6. Which word has the closest meaning to the
underlined word?

the airport.
a. exited b. rained
c. existed d. subtracted

3. What is the correct word for the blank?

The French flag is split into three sections: blue
white, and red.

Students sometimes like to

their old school.

to

a. divided
c. produced

b. existed
d. adopted

7. Which word has the closest meaning to the
underlined word?

a. replace b. copy
c. allow d. come back

4. What is the correct word for the blank?

Dad watches the weather forecast on

| have recently recovered from a bad

a. paste b. illness

c. accommodations d. wavelength

television.
a. lets down b. puts on
c.setsup d. looks at

8. Which word has the closest meaning to the
underlined word?

Of all the fruits, | prefer bananas.

a. allow b. like
c. describe d. copy
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9. Which pair does NOT have the same relation
as the sample?

bare-covered

a. scary-funny b. moldy-fresh

C. exist-die d. properly-correctly

10. Which pair does NOT have the same relation
as the sample?

produce-make

a. embarrassed-shy b. formula-rule

c. strengthen-weaken d. watch-look

11. Which pair does NOT have the same relation
as the sample?

subtract-reduce

a. order-request b. propose-suggest
c. control-direct  d. difference-similarity

12. Which pair has the same relation as the
sample?

condition-state

a. damaged-harmed b. without-including

c. end-beginning d. over-under

13. Choose the option that best fits the blanks.

14. Choose the option that best fits the blanks.

Refraction and reflection are two ways of
moving light.

Look at a bird with binoculars. It looks close
even though it’s (A) .That’s
because of refraction.

Binoculars bend and focus the light.

The birds fly (B)
see them in the water. The light bounces off

a lake. You can

the water and is reflected.

(A) (B)

a.over far away
b. split over
c. far away over
d. except far away

15. Choose the option that best fits the blanks.

Noah and his mom are caught in a heavy

(A) on the way to town. They run
inside a café. They (B) some hot
chocolate. It soon stops raining, and the sun
comes out.

“Wow, Mom, look at that! It’s a rainbow!

(A) and fungi are living things that
are all around us. You probably have yogurt,
made by bacteria, and mushrooms, a type of
fungi, in your fridge at home. Yogurt is made
from milk. Bacteria in the milk create

(B) . They turn the liquid milk into
thick yogurt.

(A) (B)
a. Lactic acid cells
b. Moldy lactic acid
c. Fermentation  mold
d. Bacteria lactic acid

(A) (B)

a. raindrop exit

b. shower order

c. shower come out
d. raindrop exit
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[16-20] Answer the questions.

(A)“Dad, how can it be so hot?” asks Emma.
“Don’t worry, Emma. That’s the temperature
@in Fahrenheit. 77°F is 25°C.”

“What’s the difference, Dad?”

(B) “Fahrenheit @measures temperature a bit
differently. 0°F is the freezing point of salt

water.”

(C) Emma @go on a trip to the U.S. with her
family. After a day of fun, they come back to

their accommodations.

(D) Dad watches the weather forecast on
television. Wait, it @will be 77 degrees

tomorrow!

16. Reorder the sentences to make a passage.
a. (A)-(D)-(C)-(B)
b. (C)-(D)-(A)-(B)
c. (C)-(D)-(B)-(A)
d. (D)-(C)-(A)-(B)

17. What is “they” in the passage?
a. Emma

b. Dad

c. the U.S.

d. Emma’s family

18. What is grammatically wrong?
a. @ b. @
C. @ d. @

19. What is the main purpose of the passage?
a. To explain why it is so hot in the U.S.

b. To show why the temperature is rising

c. To explain the temperature measured in
Fahrenheit

d. To show why it is good to visit the U.S.

20. What is true according to the passage?

a. Celsius is hotter than Fahrenheit.

b. The temperature will rise overnight.

c. 0°Cis the freezing point of salt water.

d. Fahrenheit is a higher number than Celsius.
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[21-25] Answer the questions.

(A) However, they don’t always work properly.
Hearing can become very bad. Hearts stop
working properly. Limbs can be @Iose inan

accident.

(B) Doctors can give you an artificial limb. It
might be an arm with fingers that can really
move. Doctors can @replace a damaged
heart with an artificial one. They can replace

your inner ear so you can hear better.

(C) What can people do? They might be able to
get an artificial organ to do the work of @their

real organs.

(D) Your body consists of many organs all
working together. It is @Iike a wonderful and

complicated machine.

21. Reorder the sentences to make a passage.
a. (B)-(A)-(C)-(D)
b. (C)-(D)-(A)-(B)
c. (D)-(A)-(C)-(B)
d. (D)-(C)-(A)-(B)

22. What are “They” in the passage?
a. People who lose a limb

b. Artificial limbs

c. People with bad hearing

d. Doctors

23. What is grammatically wrong?
a. @ b. @
C. @ d. @

24. What is the main purpose of the passage?
a. To describe how artificial limbs are made
b. To show how people get new hearts

c. To explain how humans can be repaired

d. To describe how doctors save lives

25. What is NOT true about the passage?

a. Doctors can give people new arms and legs.

b. Artificial hands have real fingers attached.

c. If it goes wrong, humans can have a new heart
fitted.

d. People’s hearing can be improved.




